HHETERA SRR R

OF\EEF HEAFEER(-17 1y 7)

B [No.o [No.1 |No.2 [No.3 [No.4 [No.5 |No.6 [No.7 [No.8 [No.9 |No.10 [No. 11 [No.12 |No.13 |No. 14 |No. 15 |1 |sisk

Mk [BP a5t
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0

L3 0.00] 0

L2 0.30 1 0.00] 0.30 | 0.30 | 0.20 | 0.30] 0.30 | 0.30 | 0.10 2.10] 9

L1 0.00]0.00]0.30 | 0.20]0.30]0.30] 0.30 | 0.30 | 0.08 | 0.26 2.04] 10

a 0.20 ] 0.30 | 0.00 | 0.20 | 0.30 | 0.30 | 0.17 L47| 7

Rl 0.30 1 0.19] 0.20 | 0.10 | 0.15 ]| 0.05 | 0.25 0.00 L24| s

Rz 0.30] 0.30 | 0.30 | 0.30 ] 0.00 | 0.00 L20] 6
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0

it 10,00 0.80 | 0.49 ] 0.80 | 0.80 ] 0.95 | 1.25 | 1.32 | 0.90 | 0.48 | 0.26 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 8.05 | 40

AR LR EH 8.05 m

AEHEE A SN 40

T EE h=3ZH + ZIN= 805 =+ 40 = 0.2 m

TEPREE G = 0.30 —h = 0.30 — 0.20 = 0.10 m

B o= (6 +030) x100= ( 010 <+ 030 )X 100 = 333 %



HHETERA SRR R

@FEEF HEFEER (27 1y 7)

B [No.o [No.1 |No.2 [No.3 [No.4 [No.5 |No.6 [No.7 [No.8 [No.9 |No.10 [No. 11 [No.12 |No.13 |No. 14 |No. 15 |1 |sisk

Mk [BP a5t
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0

L3 0.00] 0

L2 0.00] 0

L1 0.30 ] 0.30 | 0.13 | 0.30 .03 | 4

a 0.30 1 0.30] 0.20 | 0.30 | 0.30 | 0.30] 0.07 | 0.30 [ 0.30 | 0.30 | 0.30 | 0.14 | 0.00 311 13

Rl 0.30 ] 0.17 | 0.30 | 0.30 | 0.30 | 0.30 L67] 6

Rz 0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0

it 1 0.00 ] 0.60 [ 0.90 ] 0.50 | 0.90 ] 0.60 | 0.60 | 0.37 | 0.30 | 0.30 | 0.30 [ 0.30 | 0.14 | 0.00 ] 0.00 | 0.00 | 5.81 | 23

AR LR EH 5.81 m

AEHEE A SN 23

T EE h=3ZH + ZIN= 58 + 23 = 0.2 m

TEPREE G = 0.30 —h = 0.30  — 0.25 = 0.05 m

B o= (G =+ 0.30) X 100= ( 005 = 030 )x 100 = 167 %




PR AR R O@FF T AEFIERA (1-37 7 v 7)

B [No.o [No.1 |No.2 [No.3 [No.4 [No.5 |No.6 [No.7 [No.8 [No.9 |No.10 [No. 11 [No.12 |No.13 |No. 14 |No. 15 |1 |sisk
ik  |BP &t
0.00| o
0.00| o
0.00| o
0.00| o
0.00| o
L3 0.00| o
L2 0.00| o
L1 0.30 | 0.30 0.60 | 2
a 0.07 | 0.01 | 0.08 0.16 | 3
Rl 0. 06 0.06| 1
k2 0.00| o
0.00| o
0.00| o
0.00| o
0.00| o
0.00| o
0.00| o
it | 0.07 ] 0.37 [ 0.38] 0.00 | 0.00 ] 0.00 | 0.00 | 0.00 | 0.00 | 0.00] 0.00 | 0.00] 0.00 | 0.00 | 0.00 | 0.00 | 0.82]| 6

BRI EH 0.82 m
AR R =N 6 J=
PHHEHE h=3H + EIN= 082 -+ 6 = 014
THEE G = 0.30 —h = 0.30  — 0.14 = 0.16 m

EHE = (6 + 0.30) X 100 = ( 0. 16 = 0,30 ) X 100 = 53.3 %




PR AR R @FFEEET AEFIERA (1-47 82 v 7)

B [No.o [No.1 |No.2 [No.3 [No.4 [No.5 |No.6 [No.7 [No.8 [No.9 |No.10 [No. 11 [No.12 |No.13 |No. 14 |No. 15 |1 |sisk
fEr  |BP e
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
L2 0.00] 0
L1 0.30 | 0.20 0.50 | 2
a 0.06]0.30] 0.16 | 0.02 | 0.30 0.8 5
Rl 0.30 ] 0.01 | 0.30 | 0.05 0.66 | 4
Rz 0.20 ] 0.30 | 0.16 | 0.00 0.66 | 4
R3 0.30 ] 0.04 | 0.14 0.48| 3
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
Mt 10,00 0.00 | 0.00] 0.00 | 1.16 ] 0.85 | 0.76 | 0.07 | 0.30 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 ] 0.00 | 0.00 | 3.14 | 18

AR EH 314 m
AR K EN18
FHHEE h=3ZIH+ IN= 314 + 18 = 017 m
FHEE G =030 —h = 0.30 — 017 = 013 nm

EHE = (6 + 0.30) X 100 = ( 0.13 = 0,30 ) X 100 = 43.3 %




HrHvRARER

O#EEFT WK 17125 7)

WA [No.O INo.1l [No.2 |No.3 [No.4 [No.5 [No.6 [No.7 [No.8 [No.9 [No.10 [No. 11 |No.12 [No. 13 |No. 14 [No. 15 [#t4-7|s4%
B [BP o3
0.00| o
0.00| o
0.00| o
L5 0.00| o
L1 0.00| o
L3 0.00] 0
L2 0.00| o
L1 0.00 | 0.20 | 0.10 0.30| 3
cL 0.20] 0.30 | 0.30 | 0.00 0.80| 4
Rl 0.30 [ 0.00 | 0.00] 0.00 0.30 | 4
R2 0.20 | 0.10 ] 0.30 ] 0.30 0.90| 4
R3 0.00] 0
R4 0.00| o
0.00| o
0.00| o
0.00| o
0.00| o
N 10,00 ] 0.70 | 0.40 | 0.80 | 0.40 | 0.00 | 0.00 ] 0.00 ] 0.00 | 0.00 ] 0.00 | 0.00] 0.00 | 0.00 | 0.00 ] 0.00] 2.30] 15
(IR RIS SH 2.30 m
ARt SN 15
FHEEEE h=3XH + IN = 2.30 =+ 15 = 0153 m
SPRLE G = 0,30 —h = 0.300 — 0.153 = 0.147 m
HE o= (G + 0.30) X 100 = ( 0.147 =+ 0.300 ) X 100 = 49.0 %




HrHvRARER

QHBEFT WPHT 22715 7)

WA [No.O INo.1l [No.2 |No.3 [No.4 [No.5 [No.6 [No.7 [No.8 [No.9 [No.10 [No. 11 |No.12 [No. 13 |No. 14 [No. 15 [#t4-7|s4%
B [BP o3
0.00| o
0.00| o
0.00| o
0.00| o
L5 0.00| o
L4 0.00] 0
L3 0.00| o
L1 0.20 | 0.30 | 0.30 0.80| 3
cL 0.00] 0.30 | 0.30 | 0.20 0.80| 4
Rl 0.10 | 0.10 0.20 0.40 | 3
R2 0.00| o
R3 0.00] 0
R4 0.00| o
0.00| o
0.00| o
0.00| o
0.00| o
Nt ] 0.00 ] 0.10 ] 0.60 ] 0.60 | 0.70 | 0.00 | 0.00 ] 0.00] 0.00 | 0.00 | 0.00 | 0.00 | 0.00] 0.00] 0.00 | 0.00 ] 2.00] 10
(IR RIS SH 2.00 m
ARt SN 10
FHEEEE h=3XH + IN = 2.00 =+ 10 = 0200 m
SPRLE G = 0,30 —h = 0.300 — 0.200 = 0100 m
HE o= (G + 0.30) X 100 = ( 0.100 =+ 0.300 ) X 100 = 333 %




HHETERA SRR R @FFEEET BINEEG-17 Y )

B [No.o [No.1 |No.2 [No.3 [No.4 [No.5 |No.6 [No.7 [No.8 [No.9 |No.10 [No. 11 [No.12 |No.13 |No. 14 |No. 15 |1 |sisk
ik  |BP &t
0.00] 0
0.00] 0
0.00] 0
0.00] 0
14 0.00 | 0.00 0.00| 2
L3 0.20 | 0.30 0.50 | 2
L2 0.00 ] 0.30 | 0.20 0.50 | 3
L1 0.00 ] 0.00 | 0.00 0.00] 3
a 0.00] 0
Rl 0.00] 0
Rz 0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
it 1 0.00 ] 0.00 | 0.50 | 0.50 | 0.00 ] 0.00 | 0.00 ] 0.00 | 0.00 | 0.00 | 0.00 | 0.00 ] 0.00 | 0.00] 0.00 | 0.00 ] 1.00 | 10

AR EH 100 m
AR K N0
FHHEE h=3ZH =+ EIN= 100 =+ 10 = 0100 m
FHEE G = 0.30 —h = 0.300 — 0.100 = 0.200 m

AR o= (6 + 0.30) X 100 = ( 0.200 <+ 0.300 ) X 100 = 66.7 %




HHETERA SRR R @FFEEET BINEEG-27 Y )

B [No.o [No.1 |No.2 [No.3 [No.4 [No.5 |No.6 [No.7 [No.8 [No.9 |No.10 [No. 11 [No.12 |No.13 |No. 14 |No. 15 |1 |sisk
Mk [BP a5t
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
L1 0.00] 0
a 0.00] 0
Rl 0.00] 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 0.00| 7
Rz 0.00 ] 0.20 | 0.00 | 0.00 0.20| 4
R3 0.00] 0.10 | 0.30 | 0.20 0.60 | 4
R4 0.00] 0.10 | 0.10 | 0.30 0.50 | 4
RS 0.00] 0
0.00] 0
0.00] 0
0.00] 0
it 1 0.00 | 0.00 | 0.00] 0.00 | 0.00] 0.00 | 0.20 | 0.60 | 0.50 | 0.00 | 0.00 | 0.00 ] 0.00 | 0.00] 0.00 | 0.00] 1.30 | 19

AR EH 130 m
AR K ENO19
FHHEE h=3ZIH+ IN= 130 =+ 19 = 0068 m
FHEE G = 0.30 —h = 0.300 — 0.068 = 0.232 m

AR o= (6 + 0.30) X 100 = ( 0.232 <+ 0.300 ) X 100 = 77.3 %




HHETERA SRR R @FFEEET BINEEG-3T ey )

s No.o [No.1 [No.2 [No.3 |No.4 |No.5 [No.6& [No.7 |No.8 |No.9 |Ne.10 [No. 1l [No.12 |No. 13 |No. 14 [No. 15 [#h+1% |k
ik  |BP &t
0.00| o
0.00| o
0.00| o
0.00| o
0.00| o
0.00| o
0.00| o
L1 0.00| o
A 0.00| o
Rl 0.00| o
k2 0.00| o
k3 0.00| o
Rd 0.00| o
R 0.00| o
R6 0.00| o
R7 0.10 ] 0.00 | 0.30 0.40 | 3
k8 0. 10 0. 10
it 1 0.00 ] 0.00 | 0.00] 0.00 | 0.00] 0.00 | 0.10 ] 0.10 | 0.30 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 ] 0.00 | 0.00 | 0.50

AR LR IH 050 m
AR R =N 4 J=
FHFEEHE h=3ZH + =N = 050 + 4 = 0125 m
THEE G = 0.30 —h = 0.300 — 0.125 = 0.175 m

AR o= (6 + 0.30) X 100 = ( 0.175 =+ 0.300 ) X 100 = 583 %




HHETERA SRR R @FFEERT BINEEGA4T ey )

B [No.o [No.1 |No.2 [No.3 [No.4 [No.5 |No.6 [No.7 [No.8 [No.9 |No.10 [No. 11 [No.12 |No.13 |No. 14 |No. 15 |1 |sisk
ik  |BP &t
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
L1 0.00] 0
a 0.00] 0
Rl 0.00] 0
Rz 0.00] 0
R3 0.00] 0
R4 0.00] 0
RS 0.10] 0.10 | 0.10 | 0.00 0.30 4
R6 0.00] 0.00 | 0.10 | 0.10 0.20| 4
0.00] 0
0.00] 0
it 1 0.00 ] 0.00 | 0.00] 0.00 | 0.00 ] 0.00 | 0.00 ] 0.00 | 0.00 | 0.10] 0.10 | 0.20 ] 0.10 | 0.00 | 0.00 | 0.00 | 0.50 | 8

EEiEEss IH 050 m
AR R =N 8 J=
PH#MEHE h=3%H+ EN= 050 = 8 = 0063 m
THEE G = 0.30 —h = 0.300 — 0.063 = 0.237 m




HHETERA SRR R @FFEEET BINEEGST ey )

A INo.O |No.1 [No.2 [No.3 [No.4 [No.5 [No.6 [No.7 [No.8 |[No.9 |No.10 |No. 11 |No.12 |No. 13 |No. 14 [No. 15 [#F+iF

Mk [BP a5t
0] 0
0] 0
0] 0
L5 0.10 | 0.05 15] 2
14 0.20 ] 0.10 ] 0.30 | 0.30 90 | 4
L3 0.00 ] 0.10 ] 0.30 | 0.30 70| 4
L2 0.05] 0.05 | 0.10 | 0.30 50 | 4
L1 0.00 | 0.05 | 0.00 05| 3
L .
Rl 0] 0
R2 0
0
0
0
0
0
0

R I SR S i S i R R (R i S R R N S S
=
S

Mt 0.00[{0.00]0.00]0.00]0.00]0.00]0.00]0.001]0.001]0.05(0.40(0.35]0.90] 0.60 ] 0.00 ) 0.00

AR EH 230 m
AR K EN17
FHHEE h=3ZIH + IN= 230 =+ 17 = 013 m
THEE G = 0.30 —h = 0.300 — 0.135 = 0.165 m

AR o= (6 + 0.30) X 100 = ( 0.165 <+ 0.300 ) X 100 = 550 %

a3

—_
-3



HHETERA SRR R @FFEEET BINEEG-6T 1y )

A INo.O |No.1 [No.2 [No.3 [No.4 [No.5 [No.6 [No.7 [No.8 |[No.9 |No.10 |No. 11 |No.12 |No. 13 |No. 14 [No. 15 [#F+iF
e o At

00

00

00

00

00

00

00

L1 0.00 | 0.30 30

L 0.00 | 0.30 ] 0.00 ] 0.30 | 0.00 60

R1 00

R2 00

00

00

00

00

00

00

S R R R S I i R S S S i i R R e S (o

hat 0.00({0.0010.30]0.30]0.30]0.00]0.00]0.001]0.00]0.00f0.00(0.00]0.00]90.00] 0.00 ] 0.00 90

AR LR IH 0.90 m
AR R =N 7 J=
FHHEHE h=3ZH + =N = 09 + 7 = 0129 m
THEE G = 0.30 —h = 0.300 — 0.129 = 0.171 m

AR o= (6 + 0.30) X 100 = ( 0.171 <+ 0.300 ) X 100 = 57.0 %

a3

B B (=2 (=R =R (=R (R (ol (o (el (61 B [V o3 (o (o B [« 3 (=2 (=2 [=)




HERRA AR @FEER BIISEGC-T7n )

B [No.o [No.1 |No.2 [No.3 [No.4 [No.5 |No.6 [No.7 [No.8 [No.9 |No.10 [No. 11 [No.12 |No.13 |No. 14 |No. 15 |1 |sisk

ik  |BP &t
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0

L1 0.00] 0

a 0.00 ] 0.00 | 0.10 0.10]| 3

Rl 0.00 ] 0.10 ] 0.20 | 0.30 0.60 | 4

Rz 0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0
0.00] 0

it 10,00 0.00 [ 0.10 ] 0.30 | 0.30 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 ] 0.00 | 0.00] 0.00 | 0.00 | 0.00 | 0.00 | 0.70 | 7

AR LR EH0.70 m

AEHEE A SN 7

T EE h=3ZH <+ ZIN= 070 =+ 7 = 0100 m

THEE G = 0.30 —h = 0.300  — 0.100 = 0.200 m

A o= (6 + 0.30) X 100 = ( 0.200 =+ 0.300 ) X 100 = 66.7 %




